) NCB #1if 3% 4 A

FEVET

SWERIT (FED FRAHE

11

2020 FFFE=FFH LT L XREEHE



RF R RIT (P E)RIR AR

FAVERDILARAT (FPED AIRAF (BURNRIRR “AAT7 ) 20 (RDARAT BEAE B3

FGRAT) ) B, BHTEAT R G B TR RS e 55 BB N A .

BE 2020 FFE=FH, FMTRO—EABARER., —HHRAREFTMELTR
JAEZYNR

Bfr: NRMATE. %

b —HBAR 1,461,287
O — R FE AR EERIE 16,708
B— R BAR R 1,444,580
ﬁm—ﬁmﬁ 0
Hofth—2% W fkRTHE 0
ﬁﬁ*ﬁﬁﬁ@% 0
I R R A SR R 94,805
Fopth — R BEA 0
S8 Z Tl 1,539,385
MBS A B 7= 9,246,744
BO—RBEEATEE 15.62%
—REETREE 15.62%
BARER 16.65%
BEBRKEAER
W — WEAR 78 R 5%
—RREART SRR 6%
AR T B 8%
BEBAER (HZOL—RBARE L) 2.5%
R AER
PRINBE A E R

e ATNAEEW AR, KFEMPELEZTH RN 5L, ik EREER AR

2 T, AR L T 5t




